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For 6~1(f) we need to show that the following diagram is commutative

6-1(BIU"
frore(U) F(U)
rest:l:p res’Z,yU
6-1(BIU)
ft9re(U) Z(U)
We have
res;, 007 (B)(U)o )Lé(;‘fp“f(uf) _ res*g ores o oBV) (by 3.3.5)
= reS'f_l(V),Uo/}(V)
-1 re
=07 (B U)oL, (by 3.3.5)
1¢gpre /
=07 '(B)U)ores, " oal 7 (by 3.3.1)
By uniqueness, the above diagram is commutative. Now
—1l¢gpre
071 (0(@)(U)o ALy, " =resT,, ,00(a)(V) (by 3.3.5)
—lggpre( £-1
=r1es] 1y yoalf (VD)o dlyyy (by 3.3.4)

—1l¢gpre —1l¢gpre Ly . .
=a(U) ores;,l(v) U /li(v) =) (o is a morphism)
—lgpre(U)
=a(U)o My, (by 3.3.1)
Therefore 8! 0 8 = idor, (9, f.7). Also

007" (BN(V) =07 (BN (V) oLV
=res "y, 1) °B(V)
=B(V)
and therefore 0 0 0! = idyjory(f-194,7)-

Now we prove the final step. Let ¢ :  — %’ and ) : ¥ — ¥’ be two morphism of
sheaves. We have to show the following property (see 2.4.1)

O(poaof'Y)=fipoOaoy)



